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B Rt BE 39 |40 | 79 | 9.6 |69.4 3 |HE Bl #% |39 |42 |81 | 7.2/73.8
R HIsE HA % | 34|35 |69 |-1.2]70.2 32 (At #Ht #% | 43 38|81 | 7.2/73.8
3 IR Eik = |39 41 80 | 9.6 704 33 |t ED #% |38 |42 |80 | 6.0 740
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7 |Bk iEH #% (3938 |77| 6.0|71.0 37 |mAK X #% |39 39|78 3.6 744
8 WAt EX #% | 39|37 |76 | 48 |71.2 38 |EN EfE % | 43|41 | 84| 9.6 |74.4
9 EE EX #% | 35|39 | 74| 2.4 |71.6 39 |&F Kt % | 44 | 40 | 84 | 9.6 |74.4
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18 A% F%E % |40 | 42 | 82| 9.6 |72.4 48 |A0 Bk #% | 38 |42 |80 | 3.6 |76.4
19 |5y %z #% |31 ]32|63[-9.6|72.6 49 KT #H— #% | 41|42 |8 | 6.077.0
20 |EIL E#H e |39 | 41 80| 7.2 |72.8 50 |$EEF PET fy | 42 | 41| 83 | 4.8 |78.2
21 |fhil #% | 3835 | 73| 0.073.0
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